Supplementary information file D. The modified hesitant fuzzy linguistic preference relation matrix thg, the expected 2-tuple linguistic preference relation Ern. g,

and the additive consistent linguistic preference relation Crn ¢ of respondent h (h =15,21,22, 25,30) in the gth consistency improving iteration.

Respondent No.15

Iteration 1

15, (100} 15, (100)} s, (057)5, (043)} 15,0100} {5, (0:4)5,(033).5, (022} 15, 100)} (5, (03005, (040) 5, (030}
s, (100)} s, (100)} {s,(057),s (043)} {s,(022),5_ (033),5, (044)) {s_ (100)} {s, (1.00)} {s,(0.10),5_(020),5_(0.30),5 (0.40)}
{s,(043),5, (0.57)} {s,(043), s (0.57)} {s, (100)} {s,(045),5_(033),5, (022)} {s_(045)5,(033),5,(022)} {s_(045)5 (033)5 (022)} s, (100)}
Ris,1- s, (100)} {s, (044),5,(033), 5, (022)} 5,(022), 5, (033), 5, (045)} {s, (100)} {s,(043), 5, (0.57)} s, (100)} {s,(043),5,(0.57)}
{s,(022),5_(033)5, (044)} {s, (100)} {5, (045).5, (033)5 (022)} {s,(057).s_ (043)} {s, (100)} s,(044), 5 (033),5,(022)} {s,(050) 5, (050)}
s, (1L00)} {s, (100)} {5,(022),5,(033), 5, (0.44)} s, (100)} {s,(022),5 (033)5 (044)} s, (100)} (s, (0575 (043)}
{5,(030),5,(040), 5, (030)}  {s, (040),'5,(030), 5, (020, 5, (0.10)} s, (100)} {s,(057),s (043)} s,(030), 5 (050)} {s,(043), 5, (0.57)} s, (100)}
(5.0 (5,00 (5,.043)  (5.0)  (5.7022)  (5.0)  (5,.0)
(55,00 (5,00 (5,.043) (5,.022) (.0 (5.0 (5,.0)

(s,,—0.43) (s,,—0.43) (Sy,0) (s,,-0.22) (s,,0.22) (s,,-0.22) (s,,0)

Ersai=| (s,,0) (s;,—0.22)  (s,,0.22) (Sy,0) (s,,—0.43) (s_,,0) (s,,—0.43)

(s;,0.22) (s,,0) (s,,-0.22) (s,,0.43) (S,,0) (s,,—0.22) (s;,0.50)
(s;,0) (s_,,0) (s,,0.22) (s,,0) (s;,0.22) (S,0) (s,,0.43)
(s,,0) (s,,0) (s,,0) (s,,0.43) (s;,-0.50) (s,,-0.43) (S9,0)




Iteration 2

Ris, -

CR|541 =

15, (100}
fs,,(100)}
{s,(043), 5, (057)}
{s, (100)}
{s,(022);5_(033),5_(044)}
{5, (100)}

{s,(030) 5, (040), 5, (030)}

ERls,z =

(,,0) (5,,0.22)  (5,0.04)  (s,,0.01)
(s,,-0.22)  (5,,0)  (s,,-0.18) (s,,-0.21)
(s,,-0.04) (s,,0.18) (5,,0)  (s,,—0.03)
(5,-0.01)  (5,,021)  (5,0.03)  (,,0)
(s,,036) (s,-0.42) (s,,040) (s,,0.37)
(s,,0.38) (s,,—0.40) (s,,0.42) (s,,0.39)
(5,,0.33)  (5,,—0.45)  (5,0.37)  (5,,0.34)
15, 100)} s, (057)5, (043)} 15, 1L00)
15, (100)} 15,0575, 048)) {5, (022)5, (033)5,, (044)}

{s,(043), 5, (057)}
{s,(044),5, (033) 5, (022)}
{5,100}

s, (1L00)}

(s, (1L00)}
{5,(022), 5, (033), 5, (045)}
s (045),s_(033)5_ (022)}

{s,(022),5,(0.33), s, (044)}

{s,,(045),5, (0335 (022)}
{s, (100)}
{s,,(057),s_ (043)}

s, 100}

{5,(040)5,(030), 5, (020, 5, (0.10)} {s, (100)} {s,(057)5, (043)}
(S5,0) (5;,0)  (5,,0.43) (5,,0)
(s;,0) (S,,0) (s,,0.43) (s,,0.22)

(s,,—0.43) (s,,—0.43) (Sy,0) (s,,—0.22)
(s,,0) (s;,—0.22)  (s,,0.22) (Sy,0)
(s,,0.22) (5,,0) (s,,—0.22) (s,,0.43)
(55,00 (5,00 (5.022) (5.0

(500 (5,00 (5.0)  (5,,0.43)

(s,,—0.36) (5,,-0.38) (S,,—0.33)
(s.,,0.42) (5,,0.40) (s.,0.45)
(s,,—0.40) (s,,—0.42) (s_,,—-0.37)
(s,,—0.37) (s,,—0.39) (s,,—0.34)
(5,0)  (5,,-0.02) (s,,0.03)
(5,,0.02)  (5,,0)  (5,,0.05)
(s,,—0.03) (5,,-0.05)  (5,,0)
{5, (04) 5, (033).5, (022} 15, (100} 15, (030)s, (04035, (030}

fs_ (100);

{s,(045).5_ (033)5 (022)}

15,(100)}

{s,(045).5, (0335 (022)}

{s,,(010),5(020),5_ (030), 5, (040}

1s, (100}

s, (043),5, (057} s, (1L00)} {s,(043). 5, (057}
{5, (100)} {5, (L00)} (s, (030)s (050)}
{s., (100} {s, (100)} s, (057),s, (043)}
{5, (0:50), 5, (050)} {5, (043). 5, (057} {s, (100)}
(33 ,—0.22) (53 ,0) (S—z ,0)
(s,0) (s,,0) (5,,0)
(5,,0.22) (s,,—0.22) (s,,0)
(s,,—0.43) (s_,,0) (s,,—0.43)
(50-0) (.00 (5,,0.50)
(s_;,0) (Sy,0) (s,,0.43)
(s;,—0.50) (s,,—0.43) (S,,0)




(S,,0) (s,,0.22) (5,,0.04) (8,,0.01)  (s,,-0.10) (s,,0.37) (s,,—0.33)
(s,,—0.22) (S,,0) (s,,-0.18) (5,,-0.21) (s,,—0.33) (s,,0.14) (5,,0.45)
(s,,—-0.04) (s,,0.18) (S,0) (s,,—0.03) (s,,-0.14) (s,,0.32) (s,,-0.37)
Criso=| (S,,—0.01)  (s,,0.21) (s,,0.03) (S,,0) (s,,—0.11)  (s5,,0.36)  (s,,—0.34)
(5,,0.10)  (s,,0.33)  (s,,0.14) (s,,0.11) (S,,0) (s,,0.47) (s,,-0.22)
(s,,—037) (s,,—0.14) (s,,-0.32) (s,,-0.36) (s,,—0.47) (S,,0) (s,,0.31)
(5,,0.33)  (s,,—0.45)  (s,,0.37) (sy,0.34) (s,,0.22)  (s,,—0.31) (Sy,0)
Respondent No.21
Iteration 1
fs, (100)} {s,(0:50), s, (050)} (5, (03)s (057)) {5, (04)5 (057} {5,(050),5 (0350)} {5 (0435 (05} {5, (022)5 (033)s,(044)}
{s,,(050).5_, (030)} 15, (1L00)} {s,(043) 5 (05T)} {5 (043)5 (OST)}  {s,(057)5,(043)} {5 (022).5, (033)5, (044} {5, (100)}
{s,(057). 5, (043)} {s,(057),5,(043)} {s, (100)} {s, (100)} s,(057),5,(043)} {s, (100)} fs_, (100}
Roii- {5,(057).5,(043)} {5,(057).5, (043)} {5, (100)} {s, (L00)} {5,(057).5,(043)} {5, (100)} {5, (L00)}
{s,(030)s_ (050)} s, (03)s_(057)} {5, (043),5 (057} {5, (043)5_(057)} {s, (100)} (s, (00)s_(057)} s, (043), 5 (057);
{s,(057).5,(043)} s, (0445 (033).5, (022)} {s, (100)} {s, (100)} s,(057).5,(043)} {s, (100)} fs, (100)}
s, (022)5 (033), 5, (044} {s, (100)} fs, (1Lo0); {s, (100)} {s,(057)5,(043)} {s, (100)} fs, (1L00)}
(S,,0) (S;,—0.50) (s;,-0.43) (s,,-0.43) (s,,-0.50) (s;,—0.43) (s5;,0.22)
(s4,0.50) (Sy,0) (s;,-0.43) (s;,-0.43) (s;,0.43)  (s,,0.22) (Sy,0)
(5;,0.43)  (s;,0.43) (sy,0) (sy,0) (s;,0.43) (S,,0) (s4,0)
Erai=| (8;,0.43)  (s;,0.43) (S,,0) (S,,0) (s;,0.43) (S,,0) (S,,0)
(s5,0.50) (s,,-0.43) (s;,—0.43) (s,,-0.43) (S,,0) (s,,—0.43) (s,,—0.43)
(s,,0.43) (s,,-0.22) (Sy,0) (Sy,0) (s5,0.43) (S,,0) (Sy,0)
(5,-022)  (5,,0) (54,0) (5,0)  (5,043)  (5,,0) (50-0)




(S,,0) (s,,0.38) (s,,-0.05) (s,,0.38) (s,,-0.35) (5,,0.19) (s,,0.39)
(s,,—0.38) (S,,0) (s,,—0.43) (s,,0) (s,,0.28) (s ,,-0.19) (s,,0.01)
(s,,0.05)  (s,,0.43) (S,,0) (s,,0.43) (s,,—0.30) (s,,0.24) (s,,0.44)
Crai=| (8,;,—0.38) (s,,0) (s;,—0.43) (S,,0) (s,,0) (s,,—0.19)  (s,,0.01)
(s,,0.35) (s,,-0.28) (s,,0.30) (s4,0) (S,0) (s5,-0.47) (s4,0)
(s,,—0.19)  (s,,0.19)  (s,,—0.24) (s,,0.19) (s,,0.47) (S,,0) (s,,0.20)
(s;,—0.39) (s,,-0.01) (s,,-0.44) (s,,—0.01)  (s,,0) (s,,—0.20) (S,,0)

Iteration 2

s, (100)} {5,(050),5,(0350)} {5, (043).5_(0ST)} {s,(043).5 (05T} {s,(030),5,(050)) {s (043)5 (05T} {s,(022)5 (033)5, (044}
{s,(030). 5, (050)} {s, (100)} {s,(043)5 (057)} {5, (043),5 (05T)} {5,(057),5,(03)} {5 (0575, (043)} s, (100)}
{s,(057),5, (043)) {s,(057),5, (043)} s, (100)} {s, (100)} {s,(057), 5, (043)} {s, (100)} {5 ,(030), 5, (050)}
Rai,2 - s, (057), 5, (03)} {5,(057), 5, (03)} s, (100)} {s, (100)} {5,(057),5, (03} {s, (100)} (s, (100)}
{s,(030), 5, (050)} {s,(043)5 (057} {5, (043),5, (05N} {5, (043),5, (057} {s, (100} {s,(043)5_(057)} {5, (0435, (057}
{s,(057), 5, (043)} (s, (043)5_ (057 s, (100)} {s, (100)} {s,(057), 5, (043)} {s, (100)} {s, (100}
{s,(022),5_ (033) 5 (044)} {s, (100)} {s,(0.50), 5, (0.50)} {s, (100} {5,(057), 5, (043)} {s, (100)} (s, (100)}

(Sy,0) (5;,—0.50) (s;,-0.43) (s;,-0.43) (s;,-0.50) (s,,—0.43) (s;,0.22)

(s;,0.50) (Sy,0) (s;,-0.43) (s5,-0.43) (s;,0.43)  (s,,0.22) (Sy,0)
(55,0.43)  (s5,0.43) (S,,0) (Sy,0) (s;,0.43) (Sy,0) (s;,0.50)
Era.=| (5,,0.43)  (s,,0.43) (S,,0) (Sy,0) (s;,0.43) (Sy,0) (Sy,0)
(55,0.50) (s,,-0.43) (5;,—0.43) (s,,-0.43)  (5,,0)  (5;,—0.43) (s,,-0.43)
(s;,0.43) (s,,—-0.22) (S,,0) (Sy,0) (s;,0.43) (Sy,0) (Sy,0)
(s;,—0.22) (Sy,0) (s,—0.50) (Sy,0) (s;,0.43) (Sy,0) (Sy,0)




CR21.2 =

Iteration 3

Rai3-

s, (022)5_(033), 5, (044)}

ER21,3 =

(S,0)
(s,,—0.38)
(s,,0.26)
(s,,~0.38)
(s.,,0.35)
(s,,—0.19)
(s,,0.40)

15, (100}
{s,(0.50), s, (0.50)}
{s3 (0.57), S, (043)}
18,(057), 5, (043)}
{5,3 (0.50), S, (0.50)}

{s,(057), 5, (043)}

(s_,,0.38)
(S,0)
(s,,—0.36)
(s,,0)

(s,,—0.28)

(s,,0.19)
(s,,—0.23)

{s,(030), 5, (050)}
{5, (100)}

s, (057) 5, (03)}

{s,(057),5, (043))

{s,(043)5_ (057}

{s,(050), 5 (050}

s, (1L00)}

(s_,,—0.26)
(s.,,0.36)

(S,0)
(s,,0.36)

(s.,,0.08)
(5,,—0.45)

(5,,0.13)

s, (043)s_(057)}
{s,(043),5_(057)}
15, (100}

15, (100)}
{s,(043),5_(057)}
{s, (100}

s,(00), 5 (050)}

(5,0)  (S,,—0.50) (5,,—0.43)
(5,,0.50)  (5,,0)  (5,,-0.43)
(5,,043)  (5,,043)  (5,,0)
(5,,043)  (5,,043)  (5,,0)
(s,,0.50) (s,,-0.43) (s_,-0.43)
(5,,0.43)  (5,,0.50)  (5,,0)
(5,-0.22)  (s,,0)  (s,,—0.50)

(s,,0.38)
(5.,,0)
(5,,-0.36)
(S,,0)
(54,0)
(s.,,0.19)
(55,-0.23)

{s,(043),s_(057)}
{s,(043),5_(057)}
15, (100}
t5,(100)}
{s,(043),5_(057)}
s, (100}

s, (100)}

(s,,—0.35)
(s,,0.28)
(s,,—0.08)
(s4,0)
(S,0)
(s,,0.47)
(s4,0)

s, (030, 5, (0.50)}
(5,(057), 5, (043)}
(s, (0.57), 5, (043)}
{5,(057),5, (043)}
{s, (L00)}
{5,(057),5, (043)}

s,(057),5, (043)}

{s,(043)5_(057))

(s.,,0.19)
(s,,—0.19)
(s,,0.45)
(s,,—0.19)
(s_,,—0.47)
(S,0)
(s,,—0.42)

fs,(0:50), 5, (050)}

{s, (100)}

15, (100}

{5, (043)5_ (057}

15,100}

{s, (100)}

(s,,-0.43) (s,,-0.50) (5_,,~0.43)

(s,,—0.43)
(,,0)
(,,0)

(s.,,—0.43)
(S,,0)
(,,0)

(s,,0.43)
(s,,0.43)
(s,,0.43)
(S,,0)
(s,,0.43)
(s,,0.43)

(s,,—0.50)
(,,0)
(,,0)

(s.,,—0.43)
(S,,0)
(S,,0)

(s_,,—0.40)
(s.,,0.23)
(s,,—0.13)
(s,,0.23)
(5.4,0)
(s.,,0.42)
(S,0)

{s,(022)5 (033),5 (044)}

15, (100}
{s,(050), s, (050)}
15, (100}

(s, (043),5_ (057}
15, (100}

15, (100}

(s,,0.22)
(,,0)
(s.,,0.50)
(,,0)
(s_;,—0.43)
(S0,0)
(S,,0)




(S,,0) (s,,0.48) (s,,-0.26) (s,,0.38) (s,,—0.35) (s,,0.08) (s,,—0.40)
(s,,—0.48) (S,,0) (s,,0.26) (s,,0) (s,,0.17)  (s,,—0.40) (s,,0.12)
(s,,0.26)  (s,,—0.26) (S,,0) (S,,—0.36) (s,,—0.08) (s,,0.35)  (s,,—0.13)
Cras=|(S;,—0.38)  (5,,0.10)  (s,,0.36) (S,,0) (s,,0) (s,,—0.30)  (s,,0.23)
(s,,0.35) (s,,-0.17) (s,,0.08) (s4,0) (S,,0) (s,,0.43) (s4,0)
(s,,—0.08) (s,,0.40)  (s,,—0.35) (s,,0.30) (s,,—0.43) (S,,0) (s,,—0.48)
(s,,0.40) (s,,—0.12)  (s,,0.13)  (s,,-0.23) (s,,0) (sy,0.48) (sy,0)

Respondent No.22
Iteration 1
{s, (100)} 5,(050),5, (050)} {5, (02),5_(033),5,(044))  {s,(022)5 (0335 (044)) {s,(030),s, (050)} {s,(044),5, (033), 5, (022)} s, (100)}
{s,(050), 5 (0.50)} {s, (1.00)} {s, (LOO)} {s,(0:50), s (050)} (s, (1.00)} (s,(057), 5, (043)} (s, (100)}
{s,(044),5,(033), 5, (022)} {s, (100)} {s, (100)} {s,(050), 5, (050)} {s,(057),5,(043)} (5,(022),5,(033)5,(044)) {5, (057),5, (043)}
Rzz,l— (s, (0:44), 5, (033), 5, (022)} s, (0:50), s, (0.50)} {5, (0:50), s (050)} {s, (100)} (s, (0:4),5,(033), 5, (0.22)} s, (0:50), s, (0.50)} {s,(030). 5, (040), 5, (030}
{s,(050), s, (0.50)} {s,(L00)} {s,(043),5_(057); {s,(022),5 (033),5  (044); {s,(L00)} {s, (1.00)} {s,(050), 5 (050);
{s4 (022), S, (0.33), S, 044) | S, (043), S, (0.57)} {s4 (045), S, (0.33), s, (0.22)} {s4 (0.50), S, (0.50)} { s, (1.00)} {SO (1.00)} ’\5,. (1.00)}
{s, (1L00)} s, (100)} {s,(043) 5, (057); {s,(030),5,, (040), 5 (030)} {s,(0:50),s, (050)} {s, (100)} s, (100)}
(Sy,0) (s;,—0.50)  (s;,0.22) (s;,0.22) (s,,—0.50) (s;,-0.22)  (s,,0)
(s;,0.50) (Sy,0) (s,,0) (s4,0.50) (s,,0) (s5,0.43) (s,,0)
(s5,—0.22) (s,,0) (S,0) (s;,—0.50) (s,,0.43)  (s,,0.22) (s,,0.43)

Erz. =] (8;,-0.22) (s,,-0.50) (s,0.50) (Sy,0) (s;,—0.22) (s5,-0.50)  (s,,0)

(s;,0.50) (s,,0) (s;,—0.43) (s,,0.22) (Sy,0) (s,,0)  (s3,0.50)

(5;,0.22) (s;,-0.43) (s,,-0.22) (s;,0.50) (s,,0) (Sy,0) (s,,0)
(s,,0) (5,,0)  (5,-043)  (5,,0)  (5,-0.50) (5,0 (S, 0)




(S,,0) (s,,—0.46) (s,,0.12) (s,,0.17) (s,,0.20) (s,,0.02)  (S,,0.16)
(s,,0.46) (S,,0) (s,,—0.42) (s,,—0.38) (s,,—0.34) (s,,0.48) (s ,,—0.38)
(s,,—0.12)  (s,,0.42) (S,,0) (S,,0.04)  (s,,0.08) (s;,—0.10)  (s,,0.04)
Crzi=| (5,-0.17)  (s,,0.38) (s,,—0.04) (S,,0) (s;,0.04) (s;,—0.15) (s,,0)
(s,,-0.20) (s,,0.34) (s,,—0.08) (s,,—0.04) (s,,0)  (S,,—0.18) (s,,—0.04)
(s,,-0.02) (s,,—0.48) (5,,0.10) (s,,0.15) (s,,0.18) (S,,0) (s,,0.14)
(s,,—0.16)  (s,,0.38) (s,,—0.04) (s,,0) (s,,0.04) (s,,—-0.14) (Sy,0)

Iteration 2

s, (100)} {s,(0.50), 5, (050)} {s,(022),5, (033)5 (044}  {s_(022),5(033)5, (0.44)} {s,(050). 5, (050)} s, (044),5, (033).5, (022)} s, (100)}
15, (030) 5, (030)} 15, (100} 1s, (100} 1s,(050)5, (050} 15, (100)} 15,(044) 5, (033).5, (022} s, (100)}
s, (044),5, (033). 5, (022)} {s, (100)} {s, (100)} s,(0.50), 5, (050)} s, (057),5, (043)} {5,(022), 5, (033), 5, (044)} {s,(057),5 (043))
RZ’Z =] {s,(044),5 (0.33),s,(022); {s, (0.50), s, (0.50); {s_,(0.50), s, (0.50); {s, (1.00)} {s,(044),5,(033), s, (0.22); {s,(0.50), s, (0.50)} {s,(030), 5, (0.40), s, (0.30)}
15, (030) 5, (030} {5, (1L00)} 5,085 O} {5,025, (03)5, (044} 15, (1L00)} s, (L00)} 15, (050)s , (050)}
5,025 (0395 (044 {5,025, (0335, (044)} 5, (045).5, (0335, (022 {5, (050)s ,(050)) 15, 1.00)} 15, (100)} 15, (L00)}
fs, (100)} 5, (100)} 15,(043)5, 057)} 5,(030)s, (04005, (030 {5, (030).5,(00)} ts, 100} 15, (100)}




ER22,2 =

CRzz,z =

Iteration 3
s, (100)}

7

{5, (1L00)

{s,(0.50), s, (050}
(s, (0:44), 5, (033), 5, (022)}
(s, (044),5, (033). 5, (0.22)}

{s,(0.50), s, (050}

{s,(022),s (033);s

(Sy,0) (55,—0.50)  (s;,0.22)  (s5;,0.22) (s,,—0.50) (s5,—0.22)  (s,,0)
(s4,0.50) (sy,0) (s,,0) (s 4,0.50) (s,,0) (5,,-0.22) (s,,0)
(s5,—0.22) (s,,0) (S,,0) (s;,,—0.50) (s,,0.43)  (s,,0.22) (s,,0.43)
(s;,—0.22) (s;,—0.50) (s,,0.50) (,,0)  (s,,—0.22) (s,,—0.50)  (s,,0)
(s;,0.50) (s,,0) (s,,-0.43) (s,,0.22) (S,,0) (s,,0)  (s4,0.50)
(s5,0.22) (s,,0.22) (s,,—0.22) (s,,0.50) (s,,0) (S,,0) (s,,0)

(52,0) (5,00 (5,043)  (5,,0) (5,70.50) (5,00 (5,0)

(S,,0) (s,,—0.37) (s,,0.12)  (s,,0.17) (s,,0.20) (s,,—0.07) (s,,0.16)
(s,,0.37) (S,,0) (55,0.49) (s,,—0.47) (s,,-0.43) (5,,0.29) (s,,-0.47)
(s,,—0.12) (s;,—0.49) (S,50) (S,,0.04)  (s;,0.08) (s;,—0.20) (s,,0.04)
(s,,-0.17)  (s,,0.47) (s,,—0.04) (Sy,0) (5;,0.04) (s;,—-0.24) (s,,0)
(s,,-0.20) (s,,0.43) (s,,—0.08) (s,,—0.04) (s,,0) (s,,—0.28) (s,,—0.04)
(s,,0.07) (s,,—0.29) (5;,0.20) (5,,0.24) (s,,0.28) (S,,0) (s,,0.24)
(S,,—0.16)  (s,,0.47) (s ,,—0.04) (s,,0) (5,,0.04) (s,,-0.24) (S,,0)

{5, (050) 5, (050); {s,(02)5 (033)5 (04 {5, (022)5 (033).5, (044)} {s,(050) 5, (050)} {s,(044),5,(033) 5, (022)} 1s, (L00)}
s, (100)} {s, (100); s, (050), 5, (050} {s,, (100)} {s,(044).5 (033)5,(022); {s,, (100)}
{5, (1L00)} ts, (100)} 15, (050).5, (0:50)} {5,(057).5,(043)} 15,(022).5,033).5, (0:44)} {5, (1L00)}

{s, (0.50), s, (0.50)}
(s, (100)}
044} s, (022),5,(033),5, (0.44)}

{s, (100)}

{s,(0.50), s, (0.50)}
{s ,(083),s _(057)}

(s (045),5_(033),5 (022)}

{5, (100)}

{s, (1.00)}
{s,(022),s_(033),5  (044)}
{s,(0.50), s, (0.50)}

{s,(030), 5, (040), 5 (030)}

{s,(04), s (033), 5, (0.22)}
(s, (1.00)}
{s, (100)}

{s,(0.50), s, (050)}

{s,(050), s, (0.50)}
{s, (100)
{s, (1.00)}

{s, (100)}

{5,(0:30), s, (040), s, (0.30)}
{s,(0.50), s, (050)}
{s, (L00)}

s, (100}




Iteration 4

(5,,0)  (5,,-0.50) (5,,0.22) (5,,0.22) (5,,-0.50) (s,,—0.22)  (s,,0)
(5,,0.50)  (s,,0) (5.,,0)  (5,,050)  (5,,0) (5,,-0.22)  (5.,,0)
(5,,-0.22)  (5,,0) (5,,0)  (5,,-0.50) (5,,0.43) (5,,022)  (s_,,0)

Eres=| (5,,-0.22) (5,,—0.50) (5.,,0.50)  (5,,0)  (5,,—0.22) (5,,-0.50)  (s,,0)
(5,,0.50)  (5,,0)  (5,,-0.43) (5,,022)  (s,,0) (5,,0)  (5,,0.50)
(5,,022) (5,,022) (5,,-022) (5,,0.50)  (5,,0) (s,,0) (s_,,0)

(5,,0) (5,,0) (5:,0) (5,,0)  (5,-0.50)  (5,,0) (S,0)
(5,0)  (5,,-037) (5,,0.04) (5,,0.17) (5,,0.20) (s,,-0.07) (s,,0.25)
(5,,037)  (5,0)  (5,,041) (s,,-047) (5,-043) (5,,0.29) (s_,—0.39)
(s,-0.04) (s,,-0.41)  (5,,0) (5,,0.12)  (5,,0.16) (S;,—0.11)  (s,,0.20)

Cros=| (5,-0.17)  (5,,047) (5,,—0.12)  (5,,0)  (5,,0.04) (5,,—0.24)  (5,,0.08)
(5,,-020) (5,,043) (55,-0.16) (55,-0.04)  (5,,0)  (5,,—0.28) (5.,,0.04)
(5,,007) (5,029 (5,,0.11) (55,024) (5,,028)  (5,0)  (5.,,0.32)
(5,,—0.25)  (5,0.39) (5,,-0.20) (5,,-0.08) (s,,—0.04) (5,,-0.32)  (5,,0)

15, (L00)} 15, (0:30) 5, (0:50) (5,025, 033),5 (04)) {5,025 (03)s, (044} {5,050,5,050)) {5, (044)5, (0335, (022} 15, (Lo}

15, (03015, (050)} 15, (100} ts, (100} {5, (0505 (050)} 15, (100} 15, (04)5, 03), 5, (022 fs,,(100)}
{5, (04)5,(033).5, (022 15,100} 15, (100} {5, (0:50) 5, (0:50) 5,(057)5,(043))  {5,(022),5,(03). 5, (0.4} s, (100}

s, (044),5,(033), 5, (022)} {s,(050), 5, (0.50)} {5, (0505, (0.50)} {s, (100)} s, (044),5,(033), 5, (022)} {s, (050),5, (0.50)}
{5 (050),5_(0.50)} {s, (1.00)} {s,(043),5_(057)} s, (022)5_(033)5 (044)} fs, (100)} s, (100)}
{s,(022),5 (033)5 (04 {s,(022),5 (0335, (044} {s (045)5 (033)5 (022)} s, (050) 5, (050)} {s, (100)} {s, (100)}
{s, (100)} {s, (100)} {s, (100)} {5, (030),5_ (040), 5 (030)} {s, (050),5, (0.50)} {s, (100)}

{s,(030) 5, (040), 5, (030)}
s (050),5_(0:50)}
ts, (1L00)

15,000}




(Sy,0) (5;,—0.50) (5;,0.22) (5,,0.22) (s,,—0.50) (s,,—0.22)
(s;,0.50) (Sy,0) (s,,0) (s;,0.50) (s,,0) (5,,-0.22)
(s,,—0.22) (s,,0) (Sy,0) (5;,,—0.50) (s;,0.43) (s,,0.22)
Erx.: =] (8;,-0.22) (s,,—0.50) (s,,0.50) (S,,0) (s;,—0.22) (s,,—0.50)
(s;,0.50) (s,,0) (s,,-0.43) (s,,0.22) (S,,0) (s,,0)
(s;,0.22) (s3,0.22) (s,,—-0.22) (s,,0.50) (s,,0) (Sy,0)
(55,00 (5,,0) (5.0) (55,00 (5,-050)  (5,0)
(S,,0) (s,,0.49)  (s,,0.04) (s,,0.17) (s,,0.35) (s,,—0.07)
(s ,,—0.49) (S,,0) (s,,—0.45) (s,,—0.33) (s,,—0.15) (s,,0.44)
(s,,—0.04) (s,,0.45) (Sy,0) (8,,0.12)  (s;,0.30) (s,,—0.11)
Crus=| (5,—0.17)  (s,,0.33)  (S,,—0.12) (S,,0) (5;,0.18)  (s;,—0.24)
(s,,—0.35) (s,,0.15) (s;,-0.30) (s;,—0.18)  (s,,0)  (s,,—0.42)
(s,,0.07) (sy),—0.44) (s;,0.11) (s,,0.24) (s,,0.42) (Sy,0)
(s,,—0.25)  (s,,0.25) (s,,-0.20) (s,,—0.08) (s,,0.10) (s,,—0.32)
Respondent No.25
Iteration 1 5, (L0} {5, (LO0)} {5, (LOO)} {5, (1L00)} {S,(LO0)} {5, (LO0)} {5, (1L.00)}
{s, (100} {s, (100} {5, (100} {5, (100} {5, (LOO)} {5 (L00); {s_(1.00)}
(5,100 s (100} {5, (100} {5, (100)} {5,(L00)} {3, (L00)} {5, (1L00)}
Ros.1 - {5,100} {s,(LOO)} {5, (100} {5, (100)} {5, (L0O)} {5 (1L0O)}  {s, (1.00)}
(5,100} {s (L0} s (LOO)} {5, (L00)} {s,(100)} {5, (LO0) {s,(L00)}
{5,(100) {5,100} {5, (100)} {5, (100} {s,(100)} {5 (100)}  {s, (100)}
(5,(1L00) {5,100} {3, (100} {5 (100} {5, (100)} {5 (100)}  {s (1.00)}

10

(s,,0)
(5,,0)
(s.,0)
(s,,0)
(s;,0.50)
(s,,0)
(85,0)

(s,,0.25)
(s.,,—0.25)
(s,,0.20)
(s,,0.08)
(s.,,—0.10)
(s.,,0.32)
(S,0)




CR25.1 =

(8,0)  (5,0) (5,,0) (5,0)
(55,00 (5,0)  (5,0)  (5,0)
(5,00 (5.,0)  (5,,0) (5,0
Eresi=| (5,,0)  (5,,0)  (5,,0) (s,,0)
(54,0) (5.,0) (55,0) (5,,0)
(55,0)  (55,0)  (5,,0)  (5,0)
(5,0)  (5;,0)  (5,,0) (5,,0)

(S,,0) (s,,—0.14)  (s,,0.43) (s,,-0.43)

(5,,—0.43)  (s,,0.43) (S,,0) (S,,0.14)

(s,,0.43)  (s5,,0.29) (s,,—0.14) (Sy,0)

(s,,—0.43) (s,,—0.43) (s,,0) (s,,0.14)
(S,,0) (S,,—0.14)  (s,,0.43)  (s,,—0.43)

11

(,,0)
(,,0)
(s5,0)
(s,,0)
(S,,0)
(s5,0)
(s,,0)

(S, 0)
(s5,0)
($,,0)
(S,0)
(s5,0)
($,,0)
(S, 0)

(s,,0.43)
(5,,0.14)  (5,,0)  (5,,-0.43) (5,,-0.29) (s,-0.43)
(s,,0)
(s,,—0.14)

(85, 0)

(s,,0.43)
(5,,0.29)  (5,0.14)  (5,,-0.29) (s,,-0.14) (s,,—0.29)

(S,,0)
(s5,0)
(,,0)
($,,0)
(,,0)
(,,0)
(,,0)

(S0,0) (s,,—0.29)

(s,,0.14) (s_,—0.14)
(s,,—0.43)  (s,,0.29)
(s,,043)  (s,,0.14)
(s,,—0.43) (5,,0.29)

(5,00 (5,,—0.29)

(s,,0.29) (S9,0)




Respondent No.30

Iteration 1
s, (100)}

{5, (100}

Rs0,1-

s, (050), 5, (0.50)}

ER30,| =

CR}O,I =

(54 (022), S, (0.33), s, (0.44)}
(s, (0445, (033), 5 (0.22)}
(s, (043),5_(057)}

{s,(030) 5, (050)}

{5,(022).5,(033), 5, (0.44)}

15,100}
15, (100}

15, (100}

(s, (0445 (033),s (0.22)}
{s,(04), 5 (0.33), 5, (0.22)}

s, (04),5,(033), 5, (022)}

s, (057),s,(043)}
{s, (100)}
{s_ (100)}

{s,(022), 5, (033), 5, (0.4)}

{s, (100)}

{s, (LO0)}

{s, (1L00)} {s, (0445, (033). 5, (022)}
{s, (1.00)} {s,(022),s (033), s, (044)}
{s, (044),5,(033), 5, (0.22)} {s, (100)}
{s_, (1.00)} is, (1.00)}
{s, (1.00)} is, (1.00)}
{s,(044),5,(033), 5, (0.22)} s, (1LO0)}
{5, (044) 5, (03)5,(022)) {s, (100)}
(5,0) (5,0)  (5,,-0.22)
(5,0) (5,0)  (55,022)
(s;,0.22)  (s;,-0.22) (S,,0)
(s,,-0.22)  (s,,0) (S,,0)
(s;,—0.43) (S,,0) (5,,0)
(s;,—0.50) (s,,-0.22) (S,0)
(s;,—0.50) (s,,-0.22) (S,0)
(S,,0) (s,,—-0.46) (s,,—0.37)
(s,,0.46) (S,,0) (s,,0.10)
(s,,0.37) (s,,—0.10) (S,0)
(s,,—0.43) (s,,0.11) (s,,0.21)
(s,,—0.12) (s,,0.41) (s,,—0.49)
(5,,0.23)  (s,,—0.23) (s,,—0.13)
(5,,0.06)  (s,,—0.40) (s,,-0.31)

(s,,0.22)  (s,,0.43)
(s,,0) (S,0)
(S,,0) (s_1,0)
(S,0) (s,,0.22)

(s,,-0.22)  (s,,0)
(s,,-0.22)  (s,,0)
(s;,-0.22)  (s,,—0.22)
(5,0.43)  (s,,0.12)
(Sy,=0.11)  (s,,—0.41)
(s,,—0.21)  (s,,0.49)
(55,0)  (5,,—0.30)
(5,,0.30)  (s,,0)
(s;,—0.34) (s,,0.35)
(s,,0.48)  (s,,0.18)

12

{ S, (0.22),

{s,(022),

{s, (04),s, (0.33), 5, (0.22)}

{s,(050), 5 (050);

5, (033)s_(044)}
{5, (100}

s, (033)5_ (044

s, (100)

{s, (100)}

{s, (100}
(s.5,0.50) (s,0.50)
(s.5,0.22) (s,,0.22)
(S5,0) (S0,0)
(s.5,0.22) (s,,0.22)
(5,00 (5,,0.22)
(S5,0) (85,0)
(S5,0) (85,0)

(s,,—0.23) (s_,—0.06)
(5.5,0.23)  (s.,0.40)
(s,,0.13)  (s,,0.31)
(s.5,0.34)  (s_,,—0.48)
(s.5,-0.35) (s,,-0.18)
(S,0) (8,,0.17)
(S,,-0.17)  (s,,0)

{s,(0.50), s, (0.50)}

{s,(022);5_(033),5, (044)}

{5, (100}

{s,(022),s_(033),5, (044)}

{s,(022),s (033),s  (044)}

15, (100}

{5, (100}




